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�������
������������������� �����
�� 2 ��
�����������������������!��"#������$�%�&��'
�(
�������)���%*����������
��������!!!*�"���� (C-Conc)

!��.�
/���#�"01���
��3��$�%�&�� 45���� , 30 	�3�����-1 ���:��	 2547

���������	
��
����������������������� (Field Test) ���������������

����������	
!��������"

#�	$� ��""�%&��'%����"�

/*&4�����%$��%��	��"#�� CPAC #����%�� 1
��4��� CPAC #����%��

���$����: ��������	
���
����������������������	����������!"� �����#��$%���&�"��������'�	'���������!����������


��#(��)	�)	#�*+��#����"��&,����� ���� ���.)�/��������!��!�&0�1��$��2����������������
�� PFA �$��$�3

��3���������	�����������, !��� !"�����
�		��$��')�� 1)�	
��!���%&���	$"���!����#�*�$���������(�$����	�� !��	

#�*�$������$$���5����3#�*�$�������� 6 !"���
$"8����#�*+��#����"� 
���+������!"�+�#�"���!"�$"&9;�����

��3��(��������#<$ 1)�	��������3�$'�	#��%��2
����(�������������!"� 
)	!(����!���!"��(�$����8���#����"�$"#��#��

%��2�0	��3%$��!�����������3���	���� ��3��
$"8����#��$#	!�'�	
#�	����	#����"� 
��!(�������<�����$�&,�

���$


��'���(����#�*+��#����"�'�	 ��!. �(����&��$�*#��%��2��$��#����"�8�$���<
%��%$����� 0.3

��
����$/�0���.�2�$��#����"� 
�����#(���*&��$�*#��%��2
���B��3!�����3��(� 1)�	�&,�����������'�	+�#

�"������� #��#��%��2�0	���!"���$���'�	!���
3$"#��&�3$�* 260 $�������$/��
����$!��� 
����E"���!����

#��%��2'�	!�����$��E"������$
3���	��	!����!"����	&G��������+����� ���� �
�.���$��
����3��H�� 1)�	���	

���������� (����	���� 14 ���) ��3��"�#�����
����0	 (&�3$�* 5,000 ��!) !(����%$��3��������&N�����	��!"�

#��$"���!�����&,��3�3 6 ������!"�!"�$"&9;�������3��(��������#<$


)	$"���.)�/���3��H����E"���!����#��%��2'�	!���!"��3���')����3��$���!(�%��!"�+�#���$ (Field

Test) 
����.���������!(�&N��������������#$"��	���� %����� 1������2%����� (AgNO3) 
&�����1"�$
#�$�

(K2CrO4) ��3
1��"�$%U����%1�2 (Na(OH)) 
��.)�/�#��$�&,�%&%����3�&�"���!"��8������E"$���5�������	&

G��������

1. %�
��&���*�����������$�


���
����������������������	����������!"� �����

#��$%���&�"��������'�	'���������!���������� 
��

#(��)	�)	#�*+��#����"��&,����� 1)�	
��!���%&���	$"

���!����#�*�$���������(�$����	�� !��	#�*�$����

��$$���5����3#�*�$�������� 6 !"���
$"8����#�*

+��#����"� 
���+������!"�+�#�"���!"�$"&9;�����

��3��(��������#<$ 1)�	��������3�$'�	#��%��2
����(�

������������!"� 
)	!(����!���!"��(�$����8���#����"�$"

#��#��%��2�0	��3%$��!�����������3���	���� ��3��


$"8����#��$#	!�'�	
#�	����	#����"� 
��!(����

���<�����$�&,����$

1.1 ��%�'�	���$"#��%��2��#����"���3�������

���$'�	���<�����$�����	
��#��%��2

#��%��2�&,���������)�	!"�!(�������������������

'�	���<�����$%�� 
�������'�	#��%��2�&,�������!"�

!(����#��$�&,����	'�	#����"�!"�&W�	������<�����$

%$�����������$���	��3���	�)	
�����X��������$"��(�

��3���1��
���"�	���<
3!(�������<�����$�������$%��
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1.2  ����	!"�$�'�	#��%��2

#��%��2��
$"��0���#����"���	 ���� $"��0�����(�

!"����8�$#����"� ��� !��� (
���B��3����	���	��

!���
������	����!3��) ������(���8�$#����"�

��	���� ���� �#��1"�$#��%��2 !"�$��$"��0���������

��� ����	%��<��$ %��$"����(����$���5��%���(�����

&��$�*#��%��2!"���$���%����#����"��� (��!.

1014-40) ���&9;��'�	#��%��2!"���3!����#��$

!�!��'�	#����"����� ����$��
3$�
��+�����

#����"������	!"����	�� ���� 
����(�!3�� 
�������3

��(�������

#��%��2 (Cl) �&,������!"���%��!���%&������	

��(�E��$����
��!"�$"#��$�'�$'��������	�����$

���/*3+0$&�3�!. �����#�� ����(�8�����!���%&��


����#��$�'�$'��%$�$�� ���������!"�$"��(����������

����!"�����#<$��

3����#��$�'�$'���0	 ����(�������

��	���	��
$"#��$�'�$'��'�	
1��"�$#��%��2�0	
�

��$���!(��������%�� &9;������#<$��3��(��������#<$

�&,�&9;���(�#�;'�	+�#�3�������B"�	����� ��

$���5��#�*+����(����$$"���#��#�$&��$�*#��%��2

������"�����#��$��3���	 ��������
���"������

���
���#�*+����(��(�����8�$#����"��<$"���

���
���&��$�*#��%��2 �����	
�� NaCl $"8����#�*

+��'�	#����"�

�*�
�� 1 �$����'��1>���5�!����?��#����%��


����E"���!����#��%��2'�	!�����$��E"���

���$
3���	��	!����!"����	&G��������+����� ����

�
�.���$��
����3��H�� 1)�	���	���������� (����	

���� 14 ���) ��3��"�#�����
����0	 (&�3$�* 5,000

��!) !(����%$��3��������&N�����	��!"�#��$"���

!�����&,��3�3 6 ������!"�!"�$"&9;�������3��(�������

�#<$


)	$"���.)�/���3��H����E"���!����#��%��2

'�	!���!"��3���')����3��$���!(�%��!"�+�#���$

(Field Test) 
����.���������!(�&N�������������

�#$"��	���� 
��.)�/�#��$�&,�%&%����3�&�"��

�!"��8������E"$���5�������	&G��������

2. ���+�������,&-���

2.1  ��
��*���3&�3�$��8�����3!�	�����


��&9;����	����� %����
��*�#����������!�	&W�	

���&9;��%�� 3 ���!�	 ��	�"�

1) �3	��������!�������	!"�$"#��#��%��2

#���'��	�0	������0�������!"�!"�$"�+�����

������(��������#<$: ���/*3!���!"�������

����&9;��
��������;�
3��0�������!"�!"�$"

�+�����������(��������#<$ ��3�$�����	

%��
���(��3������
3$"#��������')��

�����*8������ 1)�	%$���$�3����	���	!"�
3

�(�!������/*3��	�����$���������

8���#����"� ����3$"#��$��"��	�0	���

�������&9;�����<�����$�&,����$��

�3�3������������<� 1)�	
(��&,����	$"���

���
�������	�3��"�� ��������$����
����

����(�$����	�� ��3���	$"������
���

�&,��3�3��������$����


2) ��H����E"���!����#��#��%��2'�	

!���!"��3���')����3��$���!(�%��!"�

+�#���$ (Field Test) 
����.������

���!(�&N��������������#$"��	���� ����

�(�$���������8���#����"�: �&,����

&W�	���&9;��!"�������� ��$���!����

!���!"��	������$"#��#��%��2#���'��	�0	

%��!��!" �����&W�	�������(���������!"�$"

&9;��%&�����3��&9;��+�����	 ��3

��	��$������
����&,��3�3��������$���

�
%��

3) ����������8�$#����"���$�
�������

��������!��!�!�����	���� �(�����

!���!"�$"#��#��%��2#���'��	�0	������0���
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����!"�!"�$"�+�����������(��������#<$: 
��

������������#����"�$"#��$!)���(��0	

��3����'����3�(�'�	�3�3���$���<�

����$ (Covering) �����������
#�	

����	���80������������&W�	�����3�)�

��������������$'�	���<�����$���%&

�����E"�"� �&,�������&9;��!"�&�������

��3�����&���	����#��$
(��&,�

2.2  #�������+��3��
!"���$�3�$


�����&�3�$��!��	 3 !�	����� ����� !�	�����

!"� 2) $"#��$�&,�%&%�������	E����
$��!"���� ��3���

���	�
�������8���#����"�!"�$"#�*+�����������	

#��$�)	���
�������0�#��

3. #$/����
����%#0,�45��$"����

.)�/���E"���!����$���5��!"�$"������	����0������

���!����!"���"���'��	 ������(�$�&�3����2�(�������E"

���!����!"���H��')�������!����#��%��2+�#���$

1)�	$"��E"���!"���"���'��	 %�����

3.1 ���!����&��$�*������!�"�2!"��
��&���!���

3.1.1 !X/G"!"���"���'��	

������!�"�2��!���$������
��1�������3

1������2!"�8�������� �����!���$"&��$�*������!�"�2

$������%&��
$"8���3!�������������'�	&0�

1"�$��2 ���
������ ��	$"8�!(�����(���	���'�	

#����"����	!��	�"�����3������!�"�2
3$"8���3!���

�&G�������%U�������'�	&0�1"�$��2 ��	���������(�

!���%&8�$#����"�
)	
(��&,�����	���	!"�
3���	!(�

���!����&�3$�*������!�"�2�����	�����"�����

���!����&��$�*������!�"�2�����	���������E"���

!����#��$�'�$'�	�" (Calorimetric Test) !(�%��
��

�������������	������3���
1��"�$%U����%1�2!"�$"

#��$�'�$'�� 3% 
����(����� �&,����� 24 ����
$	

����
)	�&�"���!"���"'�	��(���'��!"�$"!�������"'�	

����3���$���5�������8����3
��"$���5�� 
��

����"'�	��(���'��!"�$"!����'�$��������3���$���

5�������8����3
��"$���5������2 3 �������������	

������!���!"��(�$�!��������$"������!�"�2�
��&�

$�� %$���$�3�$!"�
3�(�$�8�$!(�#����"� ���$"

#��$
(��&,����	�(�$����
��	 6 ���	�(�!�������$�

���	
�����
��� &��$�*������!�"�2!"��
��&�����%$�$��

��������!"��(���� �������	!(����!��������$���$


������(�!�����	�����$�!(�����$��2��������!����

�(���	��� !��	�"�����3%$����������!�"�2!������!"��&,�

����������#����"� �"!"��'�$8��&���������
�����	$�


��!�����	�����$"������<�$��

���!����&��$�*������!�"�2!"��
��&���!���

�������	!(�!��#���	�$���$"����&�"�������	���!�����$�

1)�	
3��3!(�������"�	�� ���$')����0����#��$�$�(���$�

'�	#�*�$����'�	!��� ��3�$����������<��$!"�

#����"���������'<	������8��&���

3.1.2 ��E"���!����

1) ���"�$����3���
1��"�$%U����%1�2 
��

!(�����3�������3���
1��"�$%U����

%1�2 (NaOH) 3 ���������(� 97 ���� 
����(�

����
3%������3���
1��"�$%U����%1�2!"�$"

#��$�'�$'�� 3%

2) �(�!���$����	��(�����&�3$�* 450 ���$


���������!����	��'�����%��&��$�* 130

$�.

3) ���$����3���
1��"�$%U����%1�2 #��$

�'�$'�� 3% ���%��&��$�����$���!����)	

�3��� 200 $�. �����'���%��[�	����. 
��

����&���&��$�*����3����"�#���	 
���3!��	

&��$���'�	!�����3����3�����0�!"� 200

$�. ���	����'���

4) &\�]�'�������'�����	 6 
�!�����3���

�3����'����� �������	'������!��	%��&�3$�*

24 �$.

5) ���"�$����3���$���5��������!"���"
��

�3���8	
��!��1"�$
#��$� (K2CrO4) ��

���1��[0����'�$'�� (H2SO4) ������� 0.25

���$������ 100 $�. 1)�	
3���	���"�$����

�������!"���"%$����� 2 �$.��������8��

��3
��"$���5������2 3 !"�%�����������

�!"����"������

6) �(�'�	������'��!"�$"!���$��&�"���!"���"

�������3���$���5�������8����3
��"

$���5������2 3
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7) ����"'�	'�	�����'�$��������3���$���

5�������"$���5�� ����2 3 ���8����3
�

�"���������!���!"��(�$�!����$"������!�"�2

�
��&�$� 
)	%$���$�3�$!"�
3�(�$�8�$

#����"� ���
(��&,����	�(�$�8�$#����"�


3���	!(����!�����(���	���'�	$��2���

����!"�
3�(�!�����	�����%&���	��#����"�

3.2 ���!����#��%��2�����	&N��������

3.2.1 ����������#��3�2

��������#��3�2��$"��E"!"����$��� 2 ��E" #��

1) ��E"%!�!�� 
���������3���$���

5�� AgNO3 ��$������#��3�2��#��

%��2�����	 2 mg/l �&,����%& ��������

���#��3�2��(��������	!���%&

2) ��E"%���
#�$�
!���[[_ 
�����

�#����	%����
#�$�
!���[ (Cl)  ��E"�"�

��$������#��3�2����������� 6 %����

��������$��� ���� F-, NO3-, SO4
2-,

ortho-phosphate ��E"�"�
3����(��������

�� �#��3�2��(��3�������3$"���	���

���
���#��3�2%����(��)	 0.1 mg/l ����

������#��3�2��(�]� ��(�
���#����	�����

�����3�� RO

�����	&G��������
��!���%&
3�����E"%!�!��

���� AgNO3 #��%��2����(��������	
3!(�&G����������

Ag+ ���� ���+��3!"��&,������	�$���

Ag+  +  Cl- →  AgCl

��������
������
3��.������&�"����"'�	���

���#����28�$�3����	%�[\���#��2��
1�������$[_

�����0 
��
3����"$��	!"�
����������	����
�

�*�
�� 2 �����"1
�%�!���'��1>�)&���@�!������

3.2.2  ����#$"

1) ����3���$���5�� 0.1 N AgNO3

2) ����3��� mix indicator

3) ����3������%����� 0.1 N

4) ����3���$���5�� 1000 mg/ Cl-

3.2.3  ��E"���#��3�2

1) &\�&���(��������	 50 ml �	�� [���#2

2) ��� mix indicator 10 ��� 
3%�����

�3����"$��	��	

3) ������%������	��[���#2����$���8�$

����'�������������
�������#����2�&�"���


���"$��	��	�&,��"�����	�������	�����(�$"

pH &�3$�* 2.5

4) !(����%!�!����������3��� 0.1 N AgNO3


���3!��	�)	
������!"��"�����	�&�"����&,��"

$��	����	����
�

5) ���!)�&��$���'�	��� 0.1 N AgNO3 !"����

�����%!�!��������(�%&#(���*��&��$�*

#��%��2

* �����(��������	$"#��%��2#��$�'�$'���0	#����

&��$�����(��������	��������	

** !(� Blank 
����������(������!E�q�!���(��������	

�������!)�&��$���!"�!(����������#����2�&�"����&,��"

$��	�&,�#�� blank (B) ������(�%&��������#(���*

*** !(�������
���#��$�0����	'�	������#��3�2


��%!�!������3���$���5�� Cl 1000 mg/l



 - 11 -

3.2.4  ���#(���*

Chloride (Cl-) mg/l =  V x N x 35450

                                 ml sample

V = &��$���'�	����3���$���5��

AgNO3 !"���������%!�!��

N = normality '�	����3���$���5��

AgNO3 #�� 0.1 N

4. ��
����%#0,��+
������%�7&

�������!(�&N��������������#$"��	���� �&,����

!����#��$�'�$'�	�" (Calorimetric Test)

4.1  ���!����#��%��2+�#���$ (Field Test)

����������!(�&N��������������#$"��	���� %��

���

1) 1������2%����� (AgNO3)

2) 
&�����1"�$
#�$� (K2CrO4)

3) 
1��"�$%U����%1�2 (Na(OH))

�&,����&�3����2$�
����E"%!�!�����%$�

���	���#��$�3��"��$�����
���������3���!"���"���

'��	
�����!����������!�"�2!"��
��&���!�����3

���!����������E"%!�!����3��	��������&�"���

�&�	!"�����')��!"�#���'��	����
�

�*�
�� 3 %�������
��>�&
�%�!���'��1#��%��	

4.2 ���!(�&N����������#��%��2

1) 1������2%����� (AgNO3)

����3��� AgNO3 �$�������������3���

$���5�� (
1��"�$#��%��2) !(�&N�������%��

�3����"'��'��� �$���!��	%��
3���3����&,��"

�!��	��

2) 
&�����1"�$
#�$� (K2CrO4)

����3��� K2CrO4 �$�������������3���

$���5�� (
1��"�$#��%��2) %$���	�����

����&�"����&�	

3) 
1��"�$%U����%1�2 (Na(OH))

����3��� Na(OH) �$�������������3���

$���5�� (
1��"�$#��%��2) %$���	�����

����&�"����&�	

�*�
�� 4 ���
5��@���������!���'��1?��%���������$
������

4.3 ���!���	��#��$��$���E2�3����	 Ag+��� Cl -

1. ���"�$����3��� Cl- #��$�'�$'�� 100,

200, 300, 400, 500, 750 ��3 1000

mg/l &��$�*�������	�3 100 ml �����&_�

����2'��� 250 ml

2. �������3��� AgNO3 0.1 M �	�����

�3��� Cl- !"����"�$%�� !"�3 1 ��� 
3����

�3����"'��'��� ����	&_�����2��� Ag+ ��� Cl-

!(�&N����������
��$�

3. !(�1�(���$'�� 2. 
���3!��	 %$�$"�3�������

')������$�"�

4. ���
(������� AgNO3 0.1 M !"�!(�&N�������

���"�������3��� Cl- ����3�������	

5. ��#��$��$���E2�3����	
(������� AgNO3

0.1 M ���#��$�'�$'�� Cl-
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�*�
�� 5 �����%�?�
?�$�
������?B����!%������� Cl- ��$
���
�	�?&	?&�

�*�
�� 6 ��
��$��
���
����$��5��������&
 24 ���
�	�

4.4  ���!����#��%��2��!���

!(�
��������"�$�������	!������	 200 ���$

����������	!�������(������ 200 ���$�!����� �&,�

���� 24 ����
$	 �������� Cl- 
��!����3�������(�

����� 1)�	�&,��3�3������"��������!����������!�"�2

��!��� ����
)	���	8�����3��/���	����2 1 �����

���	]�|��3��	��3���	��&��!"���0���!��� �����(�$�

!�����������3���!"����"�$%�� ��3��	������

�&�"����&�	

�*�
�� 7 ��
��$����5���$
��� 24 ���
�	� 
������/$��
�����.�����!��1 1 ��&


5. ���45��$"�"��9!����

9!���� 2546 2547

�.�. �.�. �.�. ".�. #.�. 
.�. �.�. �.#. ��.�. %�.�. #.�. ��.�.

1..)�/�$���5��#��%��2��!�����3

   ��#����"�

2..)�/����!����#��%��2

   ��$��E"$���5��

3.��H����E"�����$������!����#��%��2

   '�	!������	���6

4.!����#��%��2'�	!���+�#���$
��	

   �&�"���!"��8������E"$���5��

5.���&8���E"���!����#��%��2+�#���$
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6. ���"��&���!�

6.1 8����!���	��#��$��$���E2�3����	 Ag+ ���

Cl-


����E"���!"�������$ '�� 4.2 %��#��$��$���E2

��	�0&


���0&�$�����#��$��$���E2�&,��$���%����	�"�

Cl- = 0.0067X2 + 2.1798X


��!"�  X = 
(������� AgNO3 0.1 M !"�!(�

&N����������"�����(��������	

y = 0.0067x2 + 2.1798x
R2 = 0.9999
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Cl- (ppm)

�*�
�� 8 ���F�
�	%�	���G1��)
$�� AgNO3 ��! Cl-

6.2  8����!����#��%��2����(������


�����!����#��%��2����(������������E"!"�

�����&�"���!"�����8����!����
�� SRD %��8�

��	�0&
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�*�
�� 9 /�
�%�!���'��1>���5�!�����&
�
�G�
���%��
�����!�
��!��!/����
�%�!4�� SRD

#��#��$8������'�	��E"!"�����
�����!����

#��%��2����(������$"#��%$����� + 20 mg/l

6.3  8����!����#��%��2��!���


�����!����#��%��2��!���������E"!"�����

�&�"���!"�����8����!����
�� SRD %��8���	�0&
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�*�
�� 10 /�
�%�!���'��1>�
����&
�
�G�
���%��
�����!�
��!��!/����
�%�!4�� SRD

#��#��$8������'�	��E"!"�����
�����!����

#��%��2��!���$"#��%$����� + 55 mg/kg

7.  ������+����"�<��

'���(����#�*+��#����"�'�	 ��!. �(����&��$�*

#��%��2��$��#����"�8�$���<
%��%$����� 0.3

��
����$/�0���.�2�$��#����"� 
�����#(���*

&��$�*#��%��2
���B��3!�����3��(� 1)�	�&,�������

����'�	+�#�"������� #��#��%��2�0	���!"���$���'�	

!���
3$"#��&�3$�* 260 mg/kg

��	������E"���!����#��%��2+�#���$ (Field

Test) !"����� ��$���������
���#��%��2��!���

�����(�$����8�$#����"�%�� 
���8���#��#��$8��

���� + 55 mg/kg ����%$����� 200 mg/kg 
����E"

���!����#��%��2+�#���$


����(�!"�%�����	
������������	!�������(������

�&,����� 24 ����
$	 ��3���	8�����3��/���	����2

1 ���� �$����&�"���!"���"'�	��(�����"'�	����3���

$���5�������8����3
��"$���5�����	%$��'�$����

����2 3 
)	��$���!����#��%��2��!���
����E"

���!����#��%��2+�#���$%�� 
��$"#��#��$8��

����%$����� + 55 mg/kg
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��""�����4�-���


#�		���"���$����(���<
�����	%����$�����&�3�	#2%��

����#��$���������
������$��##���	�"� #��#�*�X��

��/$�(���; 80�
�������H��8���+�*�2 !"��&,�!"�

&�)�/� ��3���#(���3�(�����(��������
#�		���"�

��3 ����	���������	����H��8���+�*�2 ��#��$

��������������!(����!���� ��3'��$0�!�	�!#��#

��3 #�*�����!� %������ ���/�!���$��
����3��H��


(���� !"�%�����#(���3�(���"������'��$0�!"��&,�&�3
���2

�������(��������

%������
�����

• ���/�!8���+�*�2��3������������	 
(����, �#0�$��

���!���� ��� !��� ��3#����"��, 2541.

• #*3������$���#����"���3�����, �#��$#	

!�'�	#����"��, 2543.

• ����#����"��!#
�
��", �������&�3�������

�0�����]�����$#����"��!#
�
��"����0�*�

��� �(�������.��� �����	 �������������8�$

#����"��, 2545.


